2022BHASYR 7 RF17INT7T—REF AR RBEER
CEEBETA . REICAADELIGEIL. 2BEDOBE. XvF oI RaAT7H—FARICKYERLEFERE
BifER [7H23B(%).24B(H)
e —Z [INBEF S IRHU ) —95T7 (BEARE) .~ 6,706YardsPar72
SEFEHE [434
- s = 1HE 2B H
JE 4z K4 FEHIZFO—X oUT N oUT N TOTAL
1 tH Bt & 35 34 37 35 141
2 HE &F BT, IR 35 38 33 37 143
3 BFH _H— T£E 35 37 36 37 145
4T PO HAE £HOH 40 36 36 35 147
4T i —HR BT, R 34 37 36 40 147
XUULE SBREBEEFEERGFERICO—F
4T Rig =X BT, IR 37 33 40 37 147
T T BX {=AbgyE 36 40 36 36 148
7T =28 & BEHKXAYV-F 37 36 36 39 148
T hit B SCWVTKE 39 34 34 41 148
T het K {=AbgyE 34 37 39 38 148
XLLE, 108 % K5
1T A& E— T£E 36 35 37 40 148
12T IWE 2 {=AbgyE 37 38 36 38 149
12T MiE &R ARZEEF IR 35 40 36 38 149
12T S BEEF,EH 37 36 37 39 149
12T BAX ABE~IR 35 36 39 39 149
16T Al B N—FEZ— 37 41 39 33 150
16T RE IR B~ IR 41 37 37 35 150
16T 1IBR EX ARZEEF IR 38 37 38 37 150
16T EH LB SCWVTKE 37 37 41 35 150
20 ZH i 17 s Lyk 39 35 39 38 151
21T —= = JII#E 38 39 39 36 152
21T k5 JIE—ER JII#E 40 37 36 39 152
21T E=IEES HEH 40 36 39 37 152
21T INFR T JII#E 36 39 41 36 152
21T gk E HEH 40 35 39 38 152
21T BE Mt ANZBEEF R 39 36 38 39 152
21T SH XE A 37 37 40 38 152
21T BE KK e 37 37 38 40 152
21T HE BFE T£E 37 37 36 42 152
21T Rl ES {=Abgyb 38 35 38 41 152
31T FH & LHOH 40 36 41 36 153
31T pich: ML Lo T£E 36 39 43 35 153
33T B BE {=Aky9b 42 39 34 39 154
33T ZEEhEF ¥E LHOH 41 38 37 38 154
33T Pt IR JII#E 40 36 38 40 154
33T HE tHR AEF~ R 35 39 42 38 154
37T EH H#H EEX 38 41 40 36 155
37T ik A HnEH 41 38 39 37 155
37T =28 EE JGMFE = 40 37 40 38 155
37T BTH E— HnEH 38 39 38 40 155
37T (LY ER =] £HOH 37 40 38 40 155
37T fofE IESE BT~ R 39 36 40 40 155
37T INE EX £H00 37 38 40 40 155
XLl E, 43BN HAKICHER,
[ #&F | EE =& ] BEFSE 36 | 39 40 | 40 155
NEAREREICFHENEL-A. EERIZEEITHER,
#wXA EKHE EN: | 39 36 38 42 155
HWR2 Em EBE {=Akyyb 43 38 38 37 156
wR3 HFr ZER TEEX 40 41 38 37 156
R4 MO XE RHEHAEXAV-M 39 42 38 37 156
AR5 LH FHE L£HOHX 42 39 36 39 156
HXR6 BRIl EREA BT R 42 38 38 38 156
wWRT iE E= ARBEE IR 38 40 40 38 156
RS EN ES {=AbgyE 38 39 41 38 156
R EHF E— £HPOH 39 37 42 38 156
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#X10 R EXK T£E 36 40 41 39 156
R k& B TE£E 39 37 40 40 156
HRI12 alll BX k2 38 35 45 38 156
wRI13 EitbZE AHR 17 UnUR Ly 39 42 39 37 157
wWXR14 $AR HEah LHOH 36 43 41 37 157
#WR15 R Bz JGMFH = 42 37 40 38 157
wR16 =AK R {=Abgyb X 38 41 39 39 157
wWxR17 Es R/ AHENE 38 40 41 38 157
fHR18 /R BL {=Ab9yr 40 37 42 38 157
HR19 hogE #08h Al 42 34 44 37 157
FER20 et M TEE 43 40 37 38 158
BR21 SaM EE TEE 42 41 36 39 158
FER22 AT _$E* BEHARAYV-M 40 40 39 39 158
BR23 BA =— LHOH 39 41 39 39 158
HR24 F EiE SCWTKE 41 37 41 39 158
BR25 g0 HE— TEE 37 41 39 41 158
R 26 7l XfE LHOH 39 38 41 40 158
HR217 INE FEZ T£E 38 36 43 41 158
72T B Es Al 43 40 39 37 159
72T Fi&E BN {=AbgyE 43 39 36 41 159
72T £Ff =4 SCWVFIKE 39 42 41 37 159
72T F tho JI1#% 42 38 41 38 159
72T 1 AKX JI1#% 38 42 37 42 159
72T BA _E1T FEHR 40 39 39 41 159
72T SH K T£E 42 37 39 41 159
72T XE AERR e 39 40 39 41 159
72T Kix & w7 UnUNLyk 40 38 38 43 159
81T =5 BE— L£H00 43 40 41 36 160
81T EE X— BEES R 41 42 40 37 160
81T FH #®— T£E 42 40 38 40 160
81T XX BE {=AbgyE 42 39 40 39 160
81T . 74 {=Abgyb X 40 41 40 39 160
81T AH I T£E 41 40 39 40 160
81T #HE EL ) 38 42 41 39 160
81T ZE R {=AbgyE 38 41 40 41 160
89T 2F fi— BT R 44 40 40 37 161
89T ot B AL FEX 41 43 39 38 161
89T FI IERR JII#% 43 38 42 38 161
89T EHE HA HIAE 40 41 41 39 161
89T AR RIS ST KE 41 39 42 39 161
89T £ EHE {=AbgyE 41 38 38 44 161
95T A& BH5h JII#% 40 44 39 39 162
95T P 7A4HH EHOH 44 40 37 41 162
95T WH #EHA £HPOH 42 41 40 39 162
95T INEIL BE T£E 43 40 40 39 162
95T fRiE AAE N—FEZ— 41 42 39 40 162
95T BiO IE% EiEX 45 38 39 40 162
95T BlE H— FER 39 43 41 39 162
95T FH &% {=AbgyE 44 37 42 39 162
95T Ffh ER N—FEZ— 41 40 40 41 162
95T HA E# EN: 41 39 43 39 162
95T hiE E TEEX 41 37 43 41 162
95T =4 A N—t=— 41 36 45 40 162
95T it % T£E 39 38 43 42 162
95T Y2 {88 £HOH 40 37 43 42 162
109T HAE % T£E 41 41 41 40 163
109T inA _iE T£E 44 38 40 41 163
11T Bk fE— ARZE T4 R XK 44 42 38 40 164
11T k% X T£E 43 41 41 39 164
11T EE EA JII#% 41 40 43 40 164
11T Bk =4 AIlE 37 42 43 42 164
11T Rt BF JI15#% 39 40 37 48 164
116T E XKE Z£H0oH 41 44 41 39 165
116T £ TE IBEEF 4 R X 43 42 40 40 165
116T =28 BX JI15#% 41 43 42 39 165
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116T B & TE£E 43 40 42 40 165
116T A EE LHOH 42 41 41 41 165
116T HO ZE# TfE 40 42 46 37 165
1227 BE NToY HEH 41 45 41 39 166
1227 &% F SC W KE 40 43 41 42 166
1227 Rk K& £HPOD 39 44 41 42 166
1227 2= HEE JL=AUyy 45 38 41 42 166
1227 #AR ?ﬁ TE£E 40 42 42 42 166
1227 X 3 LHOH 43 39 42 42 166
1227 L Eﬁ?ﬁ A i 40 41 42 43 166
1227 dtH EZ L£HPD 40 39 43 44 166
130T e EA Alix 43 42 41 41 167
130T P N JGMFHE 40 41 41 45 167
132T Bi5 = JI18 44 42 43 39 168
132T MR _EiE ARBEE IR 43 40 43 42 168
132T B X ST KE 43 40 43 42 168
135T aH EBa Al 45 46 42 36 169
135T AR FE— AHENE 46 41 43 39 169
135T AR & TEEX 47 40 40 42 169
135T fEHE i SCWVFKE 42 44 44 39 169
135T HE KE JIL#E > 42 41 42 44 169
140 ok g R EE 45 43 42 40 170
1417 = 5h AENE 47 43 39 42 171
141T IEXR F=1 E£HPOH 44 44 44 39 171
141T A - AENE 43 43 42 43 171
141T x0O & JGMF A= 41 43 43 44 171
1417 X E¥ 17 Ny Ly 43 39 43 46 171
1417 EAR EFH {=AbgyE 41 39 45 46 171
147T HR T HIAE 45 44 42 41 172
147T 2R EL\ Eﬂ FEHR 43 44 42 43 172
147T AN EE iE 42 44 41 45 172
147T FiE E 2 WVVFKE 42 42 46 42 172
151T [ - JI1#% 46 43 43 41 173
151T B S AR X 41 46 46 40 173
151T Fik BER HIE 43 43 43 44 173
151T B2 7 £H00 39 46 45 43 173
151T &% JII#% 40 45 43 45 173
156 2E —= HEH 45 47 41 41 174
157 EiR &4 ABEF IR 43 46 43 44 176
158T it AL N—E=— 43 48 43 43 177
158T ith & JII#% 48 42 41 46 177
160T R RER 43 44 50 42 179
160T ik AT T£E 42 45 49 43 179
1627 = EX JI#E 44 46 46 44 180
162T k% Rt JGMFH = 47 43 45 45 180
164 Wh B LH00 46 46 41 48 181
165 =g 85— JL=RUyY 46 49 48 42 185
ZiE NI ER FEHRX 39 39 — - .
ZiE =8 T HEH 42 44 — -

ZiE Tk AR SCLVFIKE X 44 45 — -

KEE 2E B HItE 41 40 - -

XEHE HI KER & 41 41 - -

XEE INEF KE RERE 43 40 — -

XEE {hHE H#E JL=RUyY 41 43 - -

KEE INEF TRE Al 40 44 — -

XEE HE IR JGMFHE 46 41 — -

XEHE EH REfE £ i 44 43 - -

XEHE =X B FEHRX 50 43 - -
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1EEHBALK|1774
JE{Z K4 FEHFI—X ouT IN GROSS
1 dH Bih i 35 34 69
2 R =X i IEES A 37 33 70
3T BA B R 35 36 71
3T A &K 1=AryE 34 37 71
3T & E— T£E 36 35 71
3T Fith —ER MEF~ IR 34 37 71
7 BHE FH— T£E 35 37 72
8T alll &2 {=AryE 38 35 73
8T =H B’ MEF~IR 37 36 73
8T hir B SCWVFKE 39 34 73
8T Al EX J1 8 38 35 73
8T =28 & HBEARAV-M 37 36 73
8T HE &F B~ R 35 38 73
14T HE thik BT R 35 39 74
14T ZH Ei w7 Nk Ly 39 35 74
14T INE EZ T£E 38 36 74
14T BE EK e 37 37 74
14T HE BFE T£E 37 37 74
14T 2H XE Al 37 37 74
14T £H B SCWVFKE 37 37 74
21T mE Mt B~ R 39 36 75
21T i M TEE 36 39 75
21T E £ {=Abyyb 37 38 75
21T Eg —i& A BE~ R 36 39 75
21T INE EX LHheoH 37 38 75
21T ik IESE BT 4 R 39 36 75
21T INFR T JI[#% 36 39 75
21T g F HEH 40 35 75
21T 18R EX BT 4 R 38 37 75
21T MiE hEE B~ R 35 40 75
21T S KHB e 39 36 75
32T ik 2 T£E 39 37 76
32T R BX {=Abyyb 36 40 76
32T PO HAE ZHOH 40 36 76
32T fniE  F0ah AE 42 34 76
32T B2 Bt EE 40 36 76
32T ER EK T£E 36 40 76
32T EH F— £HH 39 37 76
32T EH fik HER 40 36 76
32T FH & LH0H 40 36 76
4T = A N—FEZ— 41 36 77
4T =20 & JGMFH = 40 37 77
41T 5<% IB—ER JII#% 40 37 77
AT NS LHOH 37 40 77
MT ER B8 {=Aryb 38 39 77
AT BTH 5= HER 38 39 77
4T e B T£E 39 38 77
AT —= R JII#% 38 39 77
4T i 2 N {=Ay9b 40 37 77
4T FiE B LHOH 40 37 77
4T Il XiE E£H0H 39 38 77
52T hE E TEEX 41 37 78
52T NS S #HERX 39 39 78
52T FL g SCWVFKE 41 37 78
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52T KiF & w7 UnUN Ly 40 38 78
52T 5EMH 17 BEE SR 41 37 78
52T fmlll Bxw N—t=— 37 41 78
52T iFE E= BT~ IR 38 40 78
52T Ea RN AEME 38 40 78
52T O ZE— T£E 37 41 78
61T SH K T£E 42 37 79
61T ZE R P 38 41 79
61T BX _E1T FEHR 40 39 79
61T ES e X 38 41 79
61T ItH £z LHOH 40 39 79
61T ®ik =4 HItE 37 42 79
61T EE AEBR e 39 40 79
61T Kt NF J1 8 39 40 79
61T fRkek A FEHR 41 38 79
61T )l EBE =AYy 41 38 79
61T iR Bz JGMEFEH = 42 37 79
61T R i LH0H 41 38 79
61T AR Hsh LHO0H 36 43 79
61T =XK R {=AF)yb % 38 41 79
75T EAR IEFR {=Abyyb 41 39 80
75T FH AKX J11 85 38 42 80
75T IR RS ST KE 41 39 80
75T e B+ XiH 38 42 80
75T Hit E#t E i 41 39 80
75T AT #EF HEHARAY-M 40 40 80
75T F th J1 8 42 38 80
75T A G MBS R 42 38 80
75T BAR E=— L£H0H 39 41 80
84T £f =4 SCWVFKE 39 42 81
84T EE BEA J1 8 41 40 81
84T XE BBE {=Akyb 42 39 81
84T MH A HIE 40 41 81
84T i = N—E— 41 40 81
84T LA F#HE LHPHX 42 39 81
84T X E— JGMFH = 40 41 81
84T A ¥ HEHARAY-M 39 42 81
84T #HAR FAE {=Ar9b 42 39 81
84T 5 BE {=Ar9b 43 38 81
84T FH RIX T£E 41 40 81
84T BE BE HItS 41 40 81
84T FIL A Al 40 41 81
84T BiLEZE KER w7 Nk Ly 39 42 81
84T AR B2 {=AFyk X% 40 41 81
84T ¥l UEBA JII#% 43 38 81
84T HeT EAR TEEX 40 41 81
84T fFH &% {=Abyyb 44 37 81
102T X BE LHOH 43 39 82
102T =¥ ILA) {=Aryb 43 39 82
102T HO ZEi# TfE 40 42 82
102T ]| —# T£E 40 42 82
102T EH #8— T£E 42 40 82
102T =1 KER iE 41 41 82
102T X EE 17 Unub Ly 43 39 82
102T alE {H— HER 39 43 82
102T HA R T£E 41 41 82
1027 i T£E 44 38 82
112T BE X— BB~ R 41 42 83
112T BRAT M T£E 43 40 83
112T "R S BT 4 R 43 40 83
112T WH =& EHOH 42 41 83
1127 Tad kg T£E 42 41 83
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112T fRiE SAES N—E=— 41 42 83
112T O 1FE& EHX 45 38 83
1127 =8 15— LH0H 43 40 83
112T J*ﬂa E2E Al 43 40 83
112T 2= EE JL=RlyY 45 38 83
112T éﬁ%,n 3 SCWVFKE 43 40 83
112T B &= T£E 43 40 83
112T A EE LHO0H 42 41 83
112T NG KE R ERE 43 40 83
112T &% FH SV KE 40 43 83
1127 RiF X5 LH0H 39 44 83
112T FE2 XM JIE X 42 41 83
1127 INE L OBE T£E 43 40 83
130T =28 _BX MEE 41 43 84
130T Py FA4HH LHO0H 44 40 84
130T FiE E SV KE 42 42 84
130T B2FE fi— MEF~ R 44 40 84
130T ﬂm: R ARZEEr 4 [ X 41 43 84
130T NP LB A 40 44 84
130T Y T£E 43 41 84
130T hHE HE JL=2Yyy 41 43 84
130T x0O &= JGMFE= 41 43 84
130T K& BHah J1 8 40 44 84
140T g2 TE BB EFH R X 43 42 85
140T Gl £H05H 39 46 85
140T &% B J1 8 40 45 85
140T Ely EE LH00H 41 44 85
140T e EA X 43 42 85
145T BEE AhToY HEFR 41 45 86
145T Fik AR HItE 43 43 86
145T AR = ANENE 43 43 86
145T =t #E FEHR 42 44 86
145T i A SCWVFKE 42 44 86
145T Eiif% W= J1 8 44 42 86
145T Bk 15_— BB ETH R X 44 42 86
145T A+ EE i 42 44 86
153T 12lf sh—EBh FEHR 43 44 87
153T gk E1T T£E 42 45 87
153T A =5 RER 43 44 87
153T K& A JGMFH = 46 41 87
153T Bl RE A 44 43 87
153T Bl f#E A X 41 46 87
153T AR E— ANENE 46 41 87
153T RNE & TEEX 47 40 87
161T EX F=1f LH0H 44 44 88
161T ngE ES RER 45 43 88
163T Tk E—8R ST KEX 44 45 89
163T iR &8 BT 4 R 43 46 89
163T HF %ﬁ HItE 45 44 89
163T Bl R &= i 46 43 89
167T &ith & J1136% 48 42 90
167T £k $hit JGMF = 47 43 90
167T FE EX JI#E 44 46 90
167T = H 8h ABRWE 47 43 90
171T =H e Al 45 46 91
1717 % F05 N—E=— 43 48 91
173T 12l —= FEHR 45 47 92
173T W 2 LH0H 46 46 92
175 2K B— FEFRX 50 43 93
176 =5 E— JL=RyY 46 49 95
NR Hir &% w7 UnURN Ly — — —
Ri5 dtH ®HX SCWTKE - - -
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